BODY DIMENSIONS DI-3

BODY DIMENSION DRAWINGS
ENGINE COMPARTMENT

(Three-Dimensional Distance)

C c
1,543
(60.75)
A
821
(32.32) /(%‘67.8%)
e _—'—'—'_'_'_ﬂ N
T 818 »
1,523*————31 /J _———(3220) L
(58.969)——p = = "'"'{'41 m
1,550 = 411 f
AN\ (6L.02) == (16.18) “-
> (1 ‘3271
.’i <383“§3 “‘7 <1.2-87|>
“‘"‘n =y
1101 (56.65) -
(4335) (ézsgg) 68 (éé g;) ' a
: 914
(38.11) (37 99) (35.98)

NT v/ 6507 _
‘\v ( ) 826 ‘P’ / n

..--..' 832 (32.52) =
341 934 (32.76) %
13.43 =
(134307 (36.77) 989 T
, (16.02) (38.94) 46 s
)Q o (25.83) 406t
=7 556, (15.9
(21 89) (17 72)---... (33 98) |
= i |
437 —
“"'4- 720 — L h3
I —— :
Vehicle Dimensions Height from Imaginary Standard Line
A-L A-M A-m B-c
or or or or B-f b-F g-H J-j Aa Cc K,k
a-l a-m a-M b-C
298 624 1,607 1,374 1,078 1,075 946 1,037 706 823 639
(11.73) | (24.57) | (63.27) | (54.09) | (42.44) | (42.32) | (37.24) | (40.83) (27.80) | (32.40) | (25.16)
HINT: For symbols, capital letters indicate right side of vehicle, small
letters indicate left side of vehicle (seen from rear). mm (in.)
Symbol Name Hole dia. H, h | Radiator support standard hole 210 (0.39)
A, a | Front fender installation nut M6 (0.24) I, i Hood lock support installation nut M6 (0.24)
B, b | Front spring support hole-inner 212.5 (0.492) J, Front bumper reinforcement installation nut M10 (0.39)
C, c | Hood hinge installation nut M8 (0.31) K, k | Radiator upper support installation nut M6 (0.24)
D, d | Cowl panel center mark — L, | Front fender installation nut M6 (0.24)
E, e | Front side member standard hole 218 (0.71) M, m | Front fender installation nut M6 (0.24)
F f Front side member standard hole fﬂ; Zz]l-g ((82%) N, n | Front wheel opening No.1 extension installation nut M6 (0.24)
G, g | Radiator upper support installation nut M6 (0.24) O, o | Frontfender apron standard hole 210 (0.39)




